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Test No, : 101
BIOCHEMISTRY - ©9

Time ;75 minutes ¢
Meximom ; 90 marks

PART A — (40 marks)

1. Oneof the following is a secondary bile acid
{a) Cholic neid (b}  Cheno deoxy cholic acid
(2}  Deoxy cholic acid (d) Hippurie acid

4 508 DE" s Buban Py &350

() 5°5% €535 by 8&s° :50.—:%3 £°95 SV
{c) &ej.%:, B sy T s {-d} =08 580 A
._ benal threshold for glucose is
() 120 mp/dl (b) 180 me/di
) 220 mg/dl (d) 300 mg/dl
878 @y, 856 Baeds
(@) 120 204, /E.5. M) 180 sopv. /8.5,
() 220 2o, /8.. (d) 300 2o /8.8,
3. The normal range of platelets in human blood is
(a)  1600-4000/ k1 (b)  3000-6000/ 41
(c)  4000-11000/ 1 (d}  200000-500000/ g1
RIS BER0ET DBy Gn), et Bogy
(@) 1500-4,000/20.8, (b} 30006000/ 3.8,
() 4000-11000/2.8. (d)  200000-500000/2.5.
4. Which of the following is not primarily a function of plasma?
() Transport of hormones (b)  Transport of anti bodies
{e)  Transport of oxygen (d) Transport of chylomierons
& 1508 st ha ayery GOa08), P08 DS 5987
(a)  56%S Sorer M) [PasEse o :
©)  eles sovese (d) 3SE'S) Sover
A 3
B
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Legwmes are delicient in

i {5 Lysine
ta) Methionine {12} A
(dy Leucine
(¢) Tryptophan 3

Beprrds Seanad® §Enn

n _a £
(8)  DoHADLRS M o
n
.o (dy m_T"g.-”)ro
© g
6 Kwashiorkor eccurs due to inafeauatedntake of
(b} Proteins
(a) Energy
iy Kais
() Carhohydrates ) ) |
i e et B B SESENOARTENE DG WA
P;;‘ﬁl;'h.m,iﬁ Frintath BrisD i BIRET BIR § Ja |
@) % ®) @
i o
v
5 @  Ede
() ‘E-"f]i‘}i}’j_?.:ﬁf?f?:) (d) (BTange
¥ Intestinal absorption of frucboscasan’
i d y  Antiport
(8) Na' associated Co transpei (b) Antig
iffust () Active transpezl
(c) Facilitated diffusion (d
GOS8 Faes (DIOS® BtHIb DEHD
. i P
: Rlalh s
(2) Na* & S0k baer L) Dotdp
‘ ) £ iy i
R HES (e tams
() WRdBHBE wgHHR @ =5 (¢
a Lingual lipase is sacroted by e
| 5 e phands
(2) Sulivary plands (b} Ebner's g )
‘ i ic gland (d) Intestinal glawes
(c) jastric glonds

¥ s 3 =
Barend ?5;3"?«1‘1 ]_‘.\J!}D{‘.r.}\:'}t.u
j ) .

(a) orerae fofoe () ':-’P'%J.EJ {Hoghen
HE iodonD
{¢) =68 Hogoe (dy woBEsy

g Carotenoids are precursers

(a) Ascorbic scid (b) Retinoic acid
i i ; y

P 1 { Foli ik
(c) antothenic aeid (d) Folic acs

6o 5638 Do }ﬁrtﬁfg"ﬁh

& S eddathon
(1) a8 e (h) Deiarons el
(@) HotS'HRs ey (@ OB psiohw
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’; The coenzyme form of Vitamin D6 is
w)  Thiamine pyrophosphate {th FAD

ey NAD (d)  Pyridoxal phosphaie

Dea2S BE Gook), SNoFm 8rann

W) GARS PEPTAe ) 2908
(0} 8.6, (d)  DBer5d vapto

i1, Which of the following is & scavenger of peroxides?

(a) %ine () Copper
(c) Belenium {(d} Chromium
&5 1208 r0S" DB DOy 380 BAb?
") 08 ) b
- fc) wdvcian (e 15‘5’13::-"1‘!.53

1%.  Insulin inereases the entry of glucose into

(a) All tissues (b) Renal tubular celle
{¢) Mucosa of small intestine (d) Bkeletal muscle

KPS TH%500 Jots® 2iag)dN JE,H Dalwro?

() &) Snwraine (b B3 eorrgroob Swatines
(0) o) DH &, 9355 e (d) wpbomnt oddhnm

14.  Ca®' in blood is lowered by

{a) Calcitonin (t) PTH
{c) Caleitriol (d)y Corticosterone
2 GEa0E" Ca™ M BROWIDE

(n) 5EDO ) D,
©) sdypchHS (d) gbgﬁ“ggSES

14.  Which of the following hormones has the shortest half life in plasma?
{n) Carticosterone by Aldosterone
(¢} Ner epinephrine {d) Thyroxin
ardys® G Bos REyd N B8 68 BD FY P ERoDIYBT
(a) SQPERE'S () edps's
(€) =~ MVRIER @ Pohye

A b Te
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15, Testosterenes is produced by

(a) Leydig cells Y Bertolic esll
()  Spermatogonia (i Proutate plent

BYPRsSn &8 BdhHh
B =
(1) BAR gedae (b}

?n.\"{"ﬁ‘.@ Faptianen
(c) ":\hr:ié—ﬁ“# DA (di @R (el

16. Cells responsible for innate immunity are activated most commuriiy vy
() Glucocorticoids
(b) Carbohydrate sequences in bacterial cell walls
() Bosnophils
T e e R PR -
{d)y Cytoplasmic proteins of bacterin
£ 5 f & f g T, e e TRy
(‘L‘:'Jﬁ?:!? Eerdd "353'2;.'5 EPuE> ‘;_.“{,}E:.?lqi:':'- Eeaiiaoenn) T FOnpaEeoit e

(a) KrEEgseond)

(b) EJ“;éﬁCﬂJ“ Yoy Rcind® n“ﬁ'};i@_‘&,ﬁb;ﬂ Gia08;, D hrhaann
@ =mrd'od

: o
(d) ergBBair Heoddd E9gind’ dy @iy

t7. Hnptens
(x) Can function as antigens
(b) Strongly bind to antibodies gpecific for them
{¢) Never act as antigenic determinants
(d) Can directly elicit the production of spacific antibodies
TR
() (B¢ wdzreonr D HYbodoriv

(by =rdd Gloly, BB HAUEE R QeiorT wo

€0

PR

(e} (88 el xr%*-ti';‘-':mmm JRPET SO
(d) DY SOBERH0H) BEERIT GG Dol

18.  Secondnry lymphoid tissue is

{(n) DBone marrow by Thymus
(c) Spleen (dy Liwer
Bedol Boron) Seerein y
(8) 2H0% Murenid by Bab
(@ Dow @) eBanEn
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nterloukin-1 is produced by
q)  Helper T cells

iy Mast cells

coaoBarc S add Halndd
GOEI0EE ;ﬁ gtk N

(q) Roediy &b Sedboden

loj  BIR EEedooeo

. "
dFr Badtorsl killen ooils

(dy Maucrophages

(b) Pfreione S0k Smna

(d) st hée

The immunoglobulin present in gecretions is

lay TgG
ey 1gh

& i I_-ft'a B
frhaned’ Eay) |z ﬁnz.;.-éé}ﬁ
(&) ot

(©) 8.

Y S i

ODB is present on the sarface of

(a) Cytotoxic T celis

(¢ Memory T cells

PEE D GDBBOIND Giyd?
2505507848 &3 Headooew

(a) pedAEyS )

{c) @Téf & Seamaon

by IgA
dy  IgM

by &
(@ o800

() Helper T celle

() B oeells

(b WSS 85 Erahanen
(d) & Seahoono

22, Wounder of vaccination is
(a) Louis Pasteur {n Eﬁ.warj:l Jennsr
(cy  T.and Steiner (i) DMilstein
SererBainesn SR _
{a) eorand é=‘n§;,5 Y] J-.‘icgé a?;ﬁ 3B
() Sok ?_3:&5‘ (d)  sod 53‘5
99 The moat commonly used ratio isotope for radio laheling antibodies is
- oy ¥ {l u*
L (e pi () jLee S

ol Bikdor SE0oR Soinws prdaon aNdriowd Bhanr Gl oY

| @ & (b) :;:.S:

J () 1’-32 ) =

': 24. The most commonly used engyme in ELISA is

’ (a) Acid phosphatase () Esterase

() Peroxidase (d} Lipase
P& segyrseaone anETRow: oBSo
(a) BB ainBd () dFeh )
(© TwodBd @ Bhe i
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[ 3- Fi¥ . . ‘ =
£3. The major protein in humaa plasma 1

(a) A ' i
] Ibumin (b} Haptogloks
{c) Fibrinogen (dy  Ceruloplesmis

APHS Fgss® iy 0PI s

(1) eanmd b) rpifed
(€©) DOFeS (d) e85

e r 3 2
26.  The major hormone in the lutesl phase of jnenstrual cycle

(a) Estradial by hCG
() Progesteronc () FSH

205 HES B8, 0SS S46° doih Huegionns 36650

(a) éﬁ{&gc’.'pojaﬁ by 5.
N aE et . A ——
(© @B (d) 92528,

AT Hain o T
27, Which of the fol lowing cells are non nucleated?

(8) Monocytes {b) Lymphocpiee
(¢) Erythrocytes (d) Granulocptiss
e 500 308" » Eevones Srglun &9 diossa?

() 2% B)  dogipdy

(© B85S (d)  [eRogd

Consaumption of raw e Bga can cause the deficiency of

a)  Thiami Bioti
{a) amin (B Biotin
() Pyridoxine {d) Niacin

H) POEIeRy St Hos e S5

- =
(8) &Sabdous b  edrds
o A
(¢) Bwe8yS (d) Sosrbs

i¥%.  Which of the following is Nons Peptide?

(a) MSH By TSH
(¢ ADH (d) FSH
9 (808 & H& S ughe
@ 300038, )  B.05.3rE.
() dd32rS, d) 25.05.:8
West No. : 101 &
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!:—'!.{} Optimum pH for Hennin is
Band k), o5EB H.IRS,
(a} 4.0 (b} 6.6
ey 74 (d) 8.5
31, In mammalian Nuelei, the immediate products of gene transcription are
() mRNA (by tRNA
(c) rRNA {d) hnRNA
g;:ita"e TofiEineds® £33 0050 oS Dotia S0y Gy
(a) dB.uB.085.. (b) B.e5.05.2.
(¢) eB.e5.35.9. (@) IS.I0.685.08.0.
iy -—Tisbowess which are least tightly bound to chromsetirrmre—ws
(a) HI histones () M2 histones
2 {¢) H3 histones (d) H4 histones
EPAra55 e wolrshnn pofosndis S LY
(@) 901 R (b) 2 Iriedy
(¢) 53 E.Ffﬁfgj (d)y sS4 3?:%35;,
33. The number of base pairs of DNA present in the haploid genome of each human eell ie
B S0 eahay Gk, HERAY entogBdind® &%) 8.05.3. B wde Soay
(& 1.7x10° (h) 1.3x108
@ 3x10° (d) 1.5x10"
4. In eukaryoles, the replication of DINA ocours at which phase of eell eyele?
{a) M phase (b) (11 phase
(¢) G2 phase (1) 8 phase
. abyE8ard) (Da Boss Sipe)dt E.08.0, Gnk), HAGS, Ko HES® O S mthiHde?
{a) M &= (b) Gl&=
(o) G2&% (dy S&=
35. In eukaryotes, the DNA dependent RNA polymerase T transeribes which of the
following RNAs
(a) mRNA () rRNA
() tRNA (d) SnRNA
clrEBare) e 808 TRE° 2 wb.aS.D. B AdbAD. e efasd. dEE |
e B Podndo
(a) 25.eB.08.2. )  e5,e8.05.0.
(@ S.eb.08.0. (d) 2%.05.e5.08..
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Which of the fillowing is a stert Ganicior sudon?

{a) UAA (hy  LiAk:

{fe) AUG )y UGA

& 808 TOE" I8 Ertod Eient

(o) ofon.d.). by ciu.ade.
(6 v, @ oin.d..

37.  Bouthern blotting is

{a) Blot transfer of DNA {(by Blot transfer of BEA
{c} Blot transfer of Proteins (Y Blot transfer of #iha
BEES epdoR ekona L
() & 88 Dot (b el et
B, _
(n) [PedR a3t (e W
48, Bestriction enzymes are
() Endo deoxy nucleases (h} Ezxo nuoclessus
() RNAses {d) DNA ligages
B JoFay
() 208" ek, Brgiabah (b 8% AR
©) ebabadEy (d) &.a5.0 ofEs
39. PCR is for amplification of
() mRNA ) tRNA
(e) rRNA () DNA
Besh, edsds B20 efEn Aot ot ?
(a) D3B30, (by SeBAS
(0) esB.e35.035.0. @ A5

40,  Which of the following inhibits protein synihesis in only euleaepatnd?

(a2} 'Tetracycline () Frythromyein
{cy Chlaramphenicol (d) Cyeloheximifs

ahrBB@BreyS” dmEhy @l Bilitmm: & 508 opd® DA BB Bt |

(8) BErpS by  IBEH RS
{r) ‘3::55.}:3:35‘.5 (d) _;I\E_,; "‘%r:! __fjc';-
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PART B - (30 marks)

41 Enzymt" .‘FLl.ﬂ-lfv’SiS of a chemical reaction
{a) Decreases AG s0 that the reaction can procéed spontaneously

i) Increases the energy of the transistion state

() Does not chanpe AG "’, but it changes the ratio of products to reactants

(d) Decreases the entropy of the reaction

B Gendin By @), JOBD éFte

(a)  AGT R Bflotoiy sPHi K BBBBT et

®)  prEyad RO @k, $80 Dotod

(@ AGY BTOSa50-B-Bpiing), Db sEEinen o0 dykon Sl Sk Es.Smky6
(d) Sy Aok, JoEs*ho Bfobas

42, NADY dependent dehydrogenases ave assaved at
(a} 260 nm (b)) 540 nm
(c) 440 nm (d)y 520 nm
NAD" esgrds &ipiE'aah @k, $tgsr It 5967
(a) 260 35.5%. () 840 28.05.
(&) 440 2505, (@) 520 25.05.

43.  Which of the following enzymes do not require coenzymaes?

ta) Oxido reductases by  Transferases
(¢} Tsomerases (d) Lyases
E e (Bo8 apé” D JoBhk §I0B5 enissnntissg

(a) esfy& 686 (b)  prRysad
() wnnBd d) edshadh

44,  Which of the following is a catalytic amino acid residue of lysozyme?
(a) Tryptophan 62 (b) Serine 57
(e} Histidine 24 (d) Glutamic acid 35
PIPDE D om1F° e85 3738 w208" wxnn?
() E3arees 62 (b) B8 57 ;
{c) ffﬂgg&g 24 (@) Kredol eiono 35

A 11 Test No. : 101
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15, Which of the following proteins is synibiesized and secveted as evmopen?
(#) Lysozyme (b))  Enteropeptidase
{¢) Thrombin () Ribonuclease

&1 (808 @l d” D8 FArBEST SoFhe Dob Ho0HNHI?

(@) DABD (b) ;ma‘is“:%aﬁ
(&) ([FroHo ) pHWrE@Ars

46. The reaction

Phosphoenol pyruvate + ADP + HY — pyruvate + ATP. AG" =—7.5 kealhinole

T it Tt Perr e P LS -

Whal is the AG" for the hydrolysis of phosphoenol pyruvate?

() +7.3 kealimole ) 7.5 kenl/mole
(¢} —14.8 keal/mole (dy —0.2 keal/mole
e

SR ed OS5 + .85, + H' — pEBS + .85, AGY =-7.5 8Zebrs

il

PRY LS PUTHES ok, ol S ACT JoB?

(a) +7.3 &Bobfars (b) -1.5 8Beb/ard
() -14.8 BRebfard @) -~0.2 53eb50d
47, Which of the following statements ahout the structure of ATE are correct?
{(7) W containg three phosphoanhydride _humirs
(b) It contains two phosphate cster honds
{¢) The sugar Moiety is linked to the triphosphate by a phesphete ester bond
{(d) The nitrogenous base is called Adenosine
2.63.2, oy Hbod e fotl aays origined” 18 S66LHE?
(a) oS’ 8 JINISITBE ok Sud
(b) ©otE” 2 gy IPB wodHne S
(@  @aipent S8, Py gt oo wofosndnd :
(d) HEtesd B IATPS mos
Test No. : 101 12
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48,  Which of the following is a high encrgy compound?

(a) glycerol-3-phosphate
(k) adenosine-di phosphate
it} pglucose-1-phosphate
(di fructose-6-phosphate
s (808 TS D6 ©RY 5 So BhyTH5
(a) Aeod-3-granew
(b) JESPO-G PRyt

(I HEE*E-1-3ryen i

(d) @EE-F-2aye
)

48, Which of the following water soluble vitamine forms part of the structure of CoA?
{a) Pantothenate - () Thiamine
(@ Riboflavin (d) TFolate
&1 1800 adyd HOS” Kb dLAHE" 08, §°.0. Bk, doyeBnS® riiin?
(a)  DotsGAS (b) GdboosS

@ pEraS (d) peedeS

50. During the reduction of FAD

(a) A flavin group is transferred

e (b} An eguivalent of a hydride ion is transferred
(¢} Two hydrogen atoms are added to the isoalloxazine ring
(d) The adenine ring pens
... ook, EEHEEaHE®
(@) &5 D Bdoomran w68 ety
() 25 ip@EDH Sarsipss wbd et
(© Both ipE'esd SESrmde, avS"EBS HiENH Do g
(A IEDS HiEsn BYSWE

i '
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51 Hexolkinase
{a) Catalysss the conversion of glucose-6-phosphate to fiuctose- 1, 4 biphosphnte
(b}  Requires Ca** for activity
(¢} Uses inorganic phosphsate to form glucose-8-phosphate
{d) Catalyzes the transfer of a phosphoryl group to a vaviety of hexoses

.

wENERE
(2) HrEE G-armtooo BEE-1, § S S382000% &iB)B055

(b) Ca® g =HB

AT T e

. — ; | A A s A e
() KPR E-B-gripter DO esonl frtes ESEPR0IHN
. (] L & a

1 IV I RN S . B Lo, PR I P A ] -1 W T e
(d) OBUsw S hBaR o (fovao afd Aobons

52, The steps of glyeolysis betwesn glyceraldelivde 3-phoaphate and S-phosphagiyecrate |

involves all the following EXCEPT |
(a} ATT synthoesis

(b) Utilization of P,

{¢y Oxidation of NADI to WAL

(¢} TPormation of 1, 8, bisphospho glycerate

AuovfirGi-3-grapte 2ot 3-5ranfetd Dok, ¥ 2ol iy oOd 80 B3 20D

e
ei.'%‘l'.'--l
(a)  D.£0.9. H0TE

{Ix¥ » o asd@rfodon

(c) NADH fod NAD® r{fr%ﬁﬁ;;f}.))

(@) 1, 3-0%d=a0 Redel Doyiaw

ﬂ' r—‘l ” 2l

53. Btarting with fructose-G-phosphate and proceeding to pyruvats, what i the s vield of

ATP molecules?

HEE-6-r e ook PEIDLS DEaeas® pELSRT AR .83, e WpkEi
(@ 1 ' by 2
fcy & {dp 4

Test No. : 101 14
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SR

e e =

Phosphofruciokinase aclivily is enhanced by which of the ‘.'n."nu.'il*lg?

f#)  Imcreased ATF cancentraiion {h) Decrensed citrate concentration
(e} Necrecased AMP concentralion (d) Increased H' concentration

54 1808 D0S" 96 FRYPTIAE Boiriesn Dowd?

(a) %y Howd .85, Aok (b) By do0R HEE fro|tsts

(£)  BE)D50005 J.00.0. Aot (d)y JEyHand HY deols

The phosphofruetokinase and pyruvatekinase reactions are similar in that
{z) Hoth generate ATP

(by Both ipyglve.ahighenergy sugar derivative P DI il
(e} Both invelve three earbon componnds

1 1

Both are essentially iveeveraibie

Ay EAE Disen MoBdhy PHIBOENE B isEioT Sothidd
(r) Do .85, GindHcdiub

(b} Todd, JEyH FESOBIAN B3, Dowofiy Shainadiit
() Bodb, R TS Shydsine SQaioom

(d) Boid wPSByd

In eukarvotic cell, the citric acid cyvele engymes sre present in

(2) Nucleus (b}  Cytoplasm
(e} Milochondria ()  Endoplasmic reticulum

dLEBE eE Keamons” DEIE sy Hadh JoBdy) actdE’ &

(n) Bowsssn () P
(©) o sroidalr (d) ;Jcﬁ“s‘gfﬂaﬁac&f_imﬁ:

The net ATP production when glucose is converted to 600z and 6Hz0 is how many times
graater than the net ATP production when glucose is converted to two lactose molecules?

HrS'8 6C0: @afdn 6H:0 m Srtdipid éfyd cond 282D Apfd Bod ofd
BEHeT DY iy 2.4.0. o Ky I8 B efiEbn?

(&) 2 b) 4
ey 18 (d 30
15 Test No. : 101
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Pyruvate carboxvlase

(a) Requires thiamine pyrophosphate ag eofaotar

(b) Reguires ATP

(¢} Isactivated by NADH

(d) Presentin cytoplasm of eukaryolic cell

PERS sronByEE

(2) @ahod PEP-Ryenty SPEbre wnbEan

(b)  2.8.9. ea5dH5

(c) DEARPS! Bardasnrnr Dolvd o o

(d}  SrEaGATraE Sa Lrl’ns‘réiuﬁ;'.\'s Headdy

b8,  Which of the following enzymes have impaired setivity in vitamin B, deficiency®

(1) Buccinate dehydrogenase {b) Isocitrate dehydrogenaes
{c) Pyruvate dehydrogenase (d) Dihydrolipoyl treosaosdsbaes

2mn By §'5506° He B0l aayd o Joghe Bairtel Shodas?

(a) H8y0e5 dipE RS (h)  oohElS dpsiEid
(©) Droded SipEtand (@) BinEdsand pr bddk

60, Pyruvate dehydropenasse complex i subject to regulation by one of fhe fllowing
mechanisms

(n) Product inhibition by Acetyl CaA and NADH
(b} Fesdback inhibition by citrate

{c) Activation by ATP

(d) Activation by eyelic AMT

pEBS &ipEEAE Sofinn e 208 586° e daboBed” Gotisit
(2) VDS 6. 2B ID.DE. . S8yE Do DGR

(b) IS Seid HEerE D60

) .85, 05 Eairdon

(@) P86 2.2%0.D. Hod Bairbes

Tegt No, : 101 16
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b1,

62.

e i

64.

Which of the following is a inobile carrier of electrons in the respiratory chain?
(a) Cylochronie C by Cylochrome mddase
(e) Cytochrome reductase (d) NADH-Q reduclase

TRhowennd’ I8 Jogned StHEr Arainme?

(a) pUFEC (b) PEE D edHEs
(© pEPE' beEd @) 25.0.8.1r5-Q Bagh

The rate of flow of electrons through the electron-tranaport chain is regulated by
(a) ATP : ADP ratio (b) Conc. of Acetyl CoA
() Rate of oxidative phosphorvlation {d) Teedback inhibition by H,0

VIS STer BoResnd® Joiehn HrEnt.aahoBotHe

(1) @.8.0.: .85, Biyd (b)  JRBSE B, @osyy, ot
() esy@eds St BENG @aak), D (d)  H,0 S0 ofersE 06%50

Which of the following compounds is not & product of pentose phosphate pathway?
() NADPH {(b) Glycerate-3-phosphate

© CO, (d}y Ribulose-5-phosphate

DOETE rigto D0 ENEY, ety e 808 TES* L8 7

(a) dR.2.E323rS5, (b)  AeBe5-3-2+T80

e O, (d) BendB-5-phyw

Gluconeogenesis occurs in

(a) Muscle (b) Adipose tissue
(e} DBrain () Kidpey

KrE DB BRhD Ross® ety

(8) Sokssn (h)  OB&E Smereny

&) Do (M) Sorphodan
How many ‘high energy’ bonds are required to convert oxaloacetate to glusnse?
SHE AT KrE'Em Srtinats ) ‘@Y 18 pofane eBsEN?

(a) 2 )y 3
{0 4 {d) 5
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ga. Which of the following is 2 kelome body’

1A

\ f k) Mal
a) GRLYL LA
et} Q4 sy 1 i

(¢) /3 -hydroxy Butyrate {dy Stearel

g of ST e
"j_l';‘a L:E:}'E.I E.'F‘"Lﬁ.‘é)q Izj'ﬁ %._,."Q.J nt BITCE I

= ) wea gk o

(a) oapd 5 ) DSHEE .
LoF & _.-.‘ - -

O r E‘!‘
() iR ';{-_Lm«%} mﬁeﬁz‘wﬁ (d) gﬁé"

£7. The net yield of ATP molecules of the complete oxidation ot Hexanoie aoid 38
- — = B < 4 3.8 5. erasm
T 'J%;;ﬁ'r-'mg {\_mj:i-a.‘e Fam Eslatilizain D08, D9y W50 e 3
- b« dd
s~ (@) 32 IS

i &
wy (dy 24

| 1 3 g 4k EIvEed AR R ;:“-.".__5.‘_|I._|~- |_-!1-‘.'- £
2 Which of the following compounas Serves s arl iy
amine acids during cataholisin?

fue B ELin0 EUOUY

() Glutamine (b) Asparagie

¥ "y L b
(€) o -ketogluterate (d) Oxalate

! ¢ -l
; 5 al Bofl rnd” O Shndion, el
SIS eBoe DR sthM Ny, S5 508 DRET o SRR, SN
& =
s0d rhod) wofEBoinmn?

; eI '-:-E"E
fﬂ} -'l{}t-:éd-;ﬁs (b} -::Fcur_] =Ea

{ 1 { SV
() i — E#ﬁsmp‘__'{.}ﬁ‘ﬁﬂ {dy eaby

e : £ Hhe atg of oo Ty ol e 1?
69. How many moles of ATF are required for the synthesis ol pie MO ol w
3 w lenonty oy ol oy o8 B ephiGi s
2l Bred S Buir HoREE) SR AT o) 8320, B0 £33

)y 2
0 {)

ey 3 dy 4

70. The first product of purine nucleotide bio synthesis that containg
ring is
(a) AMYP by GMP
(¢) IMP (@ XMP
68 BonERTHE & obiesd® S DS Sookin G TS SRR
" & G ™

3505,
(a)  2.005.0. (h) o
@) .ol ) By

s v
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T
PALRT C -— (20 marks)
| Which of the following amino acids has svde chamns that are neganvery charged

at pl 7.07
{a) Aspartate (b) IHistidine
{c) Tryptophan {d) Cystein
pH 7.0 &8, 9 e’ edoin dak), P& Hovedve ROEFDES0 HHORN0EIDT
(@) DB &) IeRES
© Ses ) DS

72, If a protein hag 400 amino acids, what is its approximate molecular weight?
{a) 11,000 Daltons 1) 22,000 Daltons
(cy 44,000 Daltons {d) B8,000 Daltons -
&l L:}'aeﬁ):a-:ﬁﬂ_;?};: Bﬁ.ﬂk&mm Eadtin S8, GrD GB0E), BuBI @Lﬁ)“?“ﬁ‘ﬂj IyTala

- (@) 11,000 &R () 22,000 &ady

(@ 44,000 &g (@) 88,000 Gy

74, Which of the following is an epimer of glucose?
(a) Fructose (In Mannose
(c) Ribose (d} Erythrose
KrEE @y, DB 287
() W§E ) Bred
(c) DaEs (d) 2858

4. Guanosine is a
{n) Purine base () Pyrimidine base
() Purine nucleoside {d) Pyrimidine nucleoside

; s

() ?;1_7"585 513 (b HBwAESBH
() Jreshe Argharph (@) DBmES Argarpé

75.  Which of the following is an unsaturated fatty acid?
(8} Lauric acid by TPalmitic acid
{t) Stearic acid {(d) Oleic acid
He (208 TIS" D8 edoyS ETRg 853507
(a) er08 3309500 () #&éﬁﬁﬁ £4205000 X
() RBE edydn (@) &0 ey
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76, Which of the following is st o mewbraae Hpid?

5
(a} Cholesterol ) Corehroside
(e} Choline (dy Phoaphe giyoeride
&s Bof 6" 08 g GbE ST
© &95 (dy ) Redd
77. Soret Bond refers to absorption of light by
(a) FProteins ®  Nucleic acids
fz}  Porphyrina () Vitamins
Bt oo wed s Bonefiolni? (R —
v e B o o e gl o
(m) L‘.;')’w"fﬁ?-f%g {b) Rrgsows S kb
(c) DBS (d)  Deapady
78. The term pl was introduced by
(n) Linus Yauling (bY Sorensen
{c) Lewis () Bronsted
pH e SER00) (LGN
3 e
(n) B85 &0ch (hy 2GR
3 o Ee
(¢) eronw (d) (e

. . F " , el e opw - = P, TR MG,
79, The acid dissociation constant (27§ of HCO, /CO, bufier sysbes @

B2

HCO, /CO, w3b g Bnkl, Hurds 2652

wy 6.1 L) 6.8
€ 7.6 4y B4
g0, The half life of I'*® is
(a) 48 hrs (by 7 davs
() 60 days {d} 1yeor

115 G, FOBH (JK das sestnf)

(a) 48 fotoew by 7 6%ren
(c) 6086%ren (d 1 Sosdntim
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& Which bonds in proleins sre not disvupted by protemn denaiwrants?
ke ;J'-*liii‘-l“' Londs k].l} ri"nJ rogen bonds
() Kleetrostatic bonds (dy  Hydrophilic bonds

2edpd® D modineiy @55 E3580d5, DER 4 ?
() VRS wogiinen b)  IEeS volisnm
() Jwﬁfag;eﬁﬁ BIodsaanen (d) IpE095 poshvmw

82.  Which of the following is both a Bronsted acid and Bronsted base in water?

s B0 RS TAS° D8 HBS 1538 €50 B0k ErSRE FrEhn?

() H,PO; ()  H,CO,
(©) NH, (d) NH}
- . R b e .

§3.  Proteins can be separated according to size by

kR .
- (1) PAGE (b) lan-exchange chromatography
(¢}  Moleenlar exclusion chromatography (d) lsoclectric focusing

SBRTenn B} Lﬁeﬁﬁ“m eI
(a) Df ()  eaird 5088 E 55D
(€)  S8EeB JEyETeES E 50 15 (d) 2088 psdol

g4.  When Hb is converted from deoxy form to oxy Hb?
(2] It becomes more acidic and release protens
{b)  Carbamino formsation is promoted
(¢} Binding of 2, 3 DPG is favoured
(d) Bound NO is transferred to Glutamine
) ?lj_'ﬁ:‘fﬁs &es?%a Hrih ood EE;]EI‘ME:ED.&“ % e T
(B) e DEyS eshyBT SAfTB Ry Hthie Daofodo
(b Fﬁgmﬁﬂ Ry B Doy
() 2,8 &5.8 aofodoed ik Safs
(@ wofiodd NO & Krennds oad Satm

85, O™ amits

(a) Alpha radiation (b) Beta radiation
(¢} Gamma radiation (d) Negatron
C" nehse Dot .
(a)  eonBdabas (b) Der BEALHO
(@ mar3dahas (dy DHprS
A
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et i s oAl g A 4 T

B, DINA absorbe maximum gt
{a) 260 nm {h) 280 nm
ic) 440 nm {(dy 560 nm
&.55.0. B8 Fandaiow
L
(n)  2607.0. (b) 280 7R.20.
oy
(©) 440700 (d) 560 .20,
87. Disulphide bridges are broken by which of the following
(a)  Sodinm dodecyl sulphate (b) Urea
(¢) B -mercaptoethanol (d) Ammonium gulphate
. 2OBYE OB DGTensE 67
o | gy T el A . rppL S -
(()  aebabo &Ed HPhey (hy ohrbair
: FREEPINE ety T W -
() f —1‘.-)53"-,:'._:7_51 TS (d) wAyRaD 31 WEht
66 Which amino acid tan stabilize protein structures by forming covalent cross links
hatween poly peptide chaing?
ki s
(x) Methionine () Berine
{c} Glutamate () Cystein
: e : F o o T § STeE 3§
:wefl‘o)‘a& HyoRPOBO B 200 [Fhdokyn DEHHDI @R DIPRHLR Fhudo T
q
oo DE?
i .
(A)  20HdHDS b wBS
a8 €
() HI:EJ};“'D&E () n}.{«dnt}
89, Which of the following is useful in ideatifying the amino terminal residue of & protain?
() Cyenogen bromide b Fluoro dipitre benzene
(¢} Thenyl iso thiocyanate (dy Urea
B ook, 958 enS’ esduiohy Hllothty ha @ ERnT {
: i E " . pprl emg ol =m B, E
(a) HobSaEs Wb (b) 6 GdEd Bosa
©) 22 orf GRIWELDS (d) asrbai
20. Chlorophyll contains which of the foliowing in its sbructure?
5576 oD poyEnnd” uf SPdinotin?
€3 o & %
() Fe* by Cu*"
(¢} Mg* () Mn™ :
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